a(0 z) (um) tor PV Ratio a(0y) (um) for PV Ratio (0 X) (um) tor PV

Ratio

10?

10

.....................

10?

10

Vertex z (cm)

G(0 X) (um)

10

-

LEL L
i
4
)8
¥

0 5 10 15 20
Vertex z (cm)

a(0 x) tor merged vertices (um)

Ratio

10 15 20

—=— DQM_CKF_XiMinusPU_base
—— DQM_CKF_XiMinusPU_retrainOIldFiles125_v2_prelimWPM_epochl

) S A ]
5515 =105 0 5 10 15 20

10%[

[

Vertex z (cm)

5 10 15 20
Vertex z (cm)

m)

o(0Yy) (H

Ratio

0(0 z) (M)

Ratio

10° =

15 20
Vertex z (cm)

10 15 20
Vertex z (cm)

0(0 y) tor merged vertices (Um)

Ratio

0(0 z) tor merged vertices (Um)

0.95/

=
o
w

=
o
)

iy

510 15 20

0.9°

5 10 15 20
Vertex z (cm)



	Contents
	Page 1


